Name z /\/EJ\

ENERGY UNIT REVIEW (completed review sheet will be turned in before starting test)

Period

I. Match the formulas and units by writing formula then the unit on the blanks provided: (There exits more

units than you need to use and some units may be used several times)

A Wey = Lorl?= a. Jodes 1. omv?
B. P.Egmtmon= JA =_% 2. FAs
C.KE=_| =_2. 3. mg

D. Quea= 3 = e ‘“(’ 4. Wor / Time
E Paae=_7_= () 5. wit

F. Power=_4_= d. 6. sht

6. Faw= Il _=_J 7. mc?

H. Fomny = Wegn=_ 2 =__). 8. mv

[. Enegy= / = a 9. FIA e
J. v= (e = 5(%("’/,% ) 10. FAs (again, | know)
K. a= 5 = A (" 5’1) 11. ma

L. P.E-nongraviatona = 2217 = 4+ 12. mgh

M. Just a little p = N = U),, 13. cmt

Il. Note the following diagram and indicate what kind of energy exists at each phase of the diagram

i. m/s

a. joules (J)

b. volts

. seconds

. watts (W)

. Pascals (Pa)
. calories/joules
. N'sorkgm/s

. square meter

2

j. newtons (N)

. meter

(with the interesting phenomena that each can be set equal at these chosen spots)

% One has to do what do get the object
from position A to position B? _LUOR

2. What type of energy does the object have
at position B? P E.

3. What type of energy does the object
Have at position C? ___ [, E,
4. What type of energy does the object
convert to at position D? &G‘ il
5. What can one calculate at position C if one

knows the work it took to get the object to l T 5 «eﬂf
position B or the P.E. at position B? ___ Velo® /

B (hethly

C

6‘/{5, c[ Qoo

(note: an answer other than K.E. or Quantity ntity of /Z/
heat it could provide in the next instant of time)

l

D (j, N “F/am"

& m,dtj\ﬂ

cheo € >
aa/\

)
(Plow)



Ill. Same as part Il above only a new diagram i f ” UFNP‘ | ‘

2 ‘4ﬂ‘[v{""lﬂ p
Ty o it by i do gt e et B AGe oo b 5
from position A to position B? _ QoK K ) ) _,,____—} *F 7
2._ What type of energ J does the object have &
at position B? _ 5
3. What type of energy does the object . D
Have at position C? K ¢ L OR R)?P Ef;
4. What type of energy does the object A fex : D D
convert to at position D? &{ ﬁ TX L —
ot L BBy g R
IV. Demonstrations: (* asterisks you favorite demonstrations) abeve S 827 T
Name all the pressure demonstrations we did/stories told:. __ 5«/\‘@&6’,
1. /‘Zym:/cw ed c“F//«/é 5. Z‘z{ﬁ;bzr[b! Co=¢1t -,{1: _“C'Q'G#) maTehes
2. (2| Kiag en ¢ l455 6. » 7 . 4 ﬁLEJt/]?
3. qlKe~"bowbd C(_/tfm,) 7. «,,m-:uau;upmeV AT 2"\"7( o
4. _gurTesiea gl(vels (xl-bame)a v Tebh—pesmie—rt S 54r\bqf e ey S~
Name all non-pressure demonstrations/videos/stories told: - . %y |
1. By uat/pé(*/(eolja.u /\cz/ 8. _alt ‘;‘?77\ (w - 7( £ = 6,5&9,{7) ﬁ
2. Tk pelple dewr pep 9 _@— >"y/4 ’4«//74 fg o
3. Szeel bells reac Y 4 SRV
4. sTer| bell \ N\ ’\/dé D) <t A /
5. (ﬂugggrwp Zz nesc » 3 o (s
6. | : ”” - 13 Aﬁ;e /4/0 { € ‘/‘C.S/’(daf’/? i
7. @ bu«/é ) (’y///w’/éf
V. Labs/Purpose (* asterisks your favorite labs) = //\/u' (_
Lab Title Purpose ; ) o CE 12 —
1. Prradanatier iy ab ”TZ‘{%“{; ,/\i«;/fcwm” op Vel ecals
2. 1 echunical E AT [t A ot M A Aes
3. QLQ YE T ché) Aéfj“ s e /Q (’/c’/\/c-c "{ 8«7\ 74,‘? 2
B B DT, Rlal Sn2e o Sen e
« LTV ,&, . e Dl - &,

“A Reon, . oLV T
VL.  Problems (*5 7k K[(e respons wfor a{?ﬁome 6ﬂ{sh%e‘t"gpecifobrems ****)e/ (S ‘“‘/ "" 3’?;./,&

1. You raise a 10.0 kg object to a height of 2.00 meters, then carry it 5.00 meters to a counter at; ~
a height of 1.50 meters and set the down on the counter.

a. How total work did you do on the object when had set it on the counter?
W ’—“—P E = m < /; (/6/( )(?3 SR C/,J/ﬂ>
o Y|

c. Ifthe object fell to th ﬂoor ho )
TP DE. =K. E bellom ‘:;u,-'

\ 7 p
d. How fast would the object be moving just be b’h/lttlngt e floor? } # -¢"/ -
/ 7

‘ = V= u
= e. How many joules of heat would the object and the flear receive after co ct'7 @
A O = PEEA= K E boTTom) = H OS]
»5 2. If 70 g person, carrying a 30 kg backp: ck pat |n, ate an energy bar that claimed
A on the wrapper that it would provide 120 calories, how many vertically feet should that energy
T/ bar get the climber up that mountain before her/his body starts using the climbers fat energy?
b 70k +306; = (00Ks

~—— pe {7 = //oc )(75"’ O)Ch) é"“é/oldé«/)é/e:’c taf (¢%

it-hav ore |t hit the floor?

3. Ifit reqwres afo Z:e of 10N hrou a distance of 2 cm to push a 5 g popper down. A

high will the popper go? 5 B. At what Sfed will the popper hit the table?

L‘_v = F2s =7

. : ' 7 s
/CA-”K axa/) V= ’9/’ AL S
J (v /f) h’ cm
f“j - )( /JZ(.)"“ lt} /Z A/' "y — 7Z ’?

T = (005 /7)(7:54/@) L 047 /;’L



